"H-NMR (600 Mz, CDCls)
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(S Mstg X MWopg x molar ratio x Py
v % QNMR purity = x 100
MGcpg ¥ MWsg
Purified Compound 2 mgstg: Weight of internal standard = 10.0 mg
g‘ mgepq: Weight of 2 =10.0 mg
Br > = MWgy: MW of internal standard = 217.06 mg/mmol
& o MWepg: MW of 2 = 198.08 mg/mmol
o':;ﬁ & « 8 Ps:4: purity of internal standard = 0.97
MeO OMe T// j [ / oy ] 110
internal standard
L nHde | 1
molar ratio = — — = = 1.10
Ista 1
NHstq | 1

lepg- integral value of 2 = 1.10
NHcpg: number of Hof 2 =1
Istg: integral value of internal standard = 1

nHgg: number of H of internal standard = 1
10.0 mg x 198.08 mg/mmol x 1.10 x 0.97
% QNMR purity = x 100
10.0 mg x 217.06 mg/mmol
= 97.87%
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